> A
A & 0l & AF 2 E A A
2A NS
g Hsus2el
Chel: HswsS MblA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
nSHF 27,970,585 29,019,064 A 1,048,479
= 90,000
< 454,015
Al 27,426,570
snsael 26,184,741 27,525,254 A 1,340,513
= 12,000
< 412,051
Al 25,760,690
HEaws MHlA 25,845,787 27,159,238 A 1,313,451
= 12,000
< 412,051
Al 25,421,736
HAd NSEXIA QRN 24,008 23,951 57
< 6,174
Al 17,834
101 14 dl 24,008 23,951 57
< 6,174
Al 17,834
04 JIZHHZ2XRHEE S 24,008 23,951 57
O8XLd WEZ XA
41,6803 72 x4 »23] 24,008
= 6,174
Al 17,834
HIed 24243 902,501 850,000 52,501
< 214,877
Al 687,624
307 21201 A 902,501 850,000 52,501
< 214,877
Al 687,624
09 2HAHAEXS 902,501 850,000 52,501
OHILE2Y 4843 902,501
< 214,877
Al 687,624
HAHA MEXR 238,000 238,000 0
< 119,000
Al 119,000
307 glz2+ol & 238,000 238,000 0
< 119,000
Al 119,000
09 2-HAHAEXS 238,000 238,000 0
OHATHE X 238,000
< 119,000
Al 119,000
BIAl NIFE B AHEHEZA 24,000 0 24,000
= 12,000
Al 12,000




A

sSdI N
g Hsus2el
sns MblA ool E )
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
207 A O] 24,000 0 24,000
= 12,000
Al 12,000
01 289 24,000 0 24,000
O3Xt EAIX SEH 24 24,000
= 12,000
Al 12,000
HA CHEIXH K& 144,000 100,000 44,000
< 72,000
Al 72,000
402 2I2tXt=01 & 144,000 100,000 44,000
< 72,000
Al 72,000
01 QIZERI 22X 144,000 100,000 44,000
OsgHAa 2 36,000,000& =4 CH 144,000
< 72,000
Al 72,000
sns =282l 57,640 81,060 A 23,420
201 Yot | 28,000 24,420 3,580
01 At 22/l 28,000 24,420 3,580
OAlLIHA 212 220 sS¢28 ¢
ByyrE
140,000& *50CH x4 & 28,000
202 044l 8,640 8,640 0
01 = LH o4 1l 8,640 8,640 0
Ollzsnsa2d 2= 8,640
203 ¥ S =&l 1,000 1,000 0
03 AIZ=XH =AY 1,000 1,000 0
Otlsns ge=a 1,000
307 izl & 20,000 20,000 0
02 QIZtFAEXZ 20,000 20,000 0
ORYE2HIS nsSetAINE & S22 A 12,000
O=MHUE HEol Sotn nsSHdEXE 2,500
O8gd=2s NS E 2,500
OgE L3 wsSetdXE 3,000
H=sws MEXNE 1,422,000 1,361,500 60,500
201 £B-2%| 57,000 57,000 0
02 =24l 57,000 57,000 0
OAIE ZHI S X 57,000
—HAFHSBAIAE(BIS)R Al 22l
3,750,000& =122 45,000




A

SdE
g Hsus2el
Chel: HswsS MblA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— AL A DSIE |X 22/l
1,000,000& »12& 12,000
307 glztol & 1,335,000 1,195,000 140,000
09 2+HAHEEXS 1,335,000 1,195,000 140,000
OltsHA SEEAB LS 185,000
OAlLH A 2dEMB LS 1,150,000
402 QI2H X201 A 30,000 109,500 AT79,500
01 RIZEAI=2E X 30,000 109,500 AT79,500
OZE2EXE XX (1) 30,000
nszg Aldzel 2,020,638 1,577,727 442,911
101 @124 dl 5,836 5,832 4
04 JI2ZtHZ22HEE =+ 5,836 5,832 4
O3ZF:xE sXZel L EAMMA
41,6803 102 «14H 5,836
201 L2l 473,102 420,895 52,207
01 At 2t 2l 21,770 22,320 A 550
Oget=&H| 7,000
—SEFXNE =X UM 1,500& *4,000 6,000
—OlEHAEHDE SE3&Ea |FX2e 1,000
oz2g+g 1,120
—DEONEMMYAS BHLY
70,0003 x8H *23] 1,120
ogdxz 13,650
—SEFNE FAUE SR
30,000& »15CH 53] 2,250
—3EFXE EMMANE E3d SR
400,000 »2CH »32] 2,400
—YAA A=Y BA LR(14) 9,000
02 =224l 451,332 398,575 52,757
03323 % HA 127,940
—4dss dles 26,1103 +7800 2+ 128 24,439
— 3288 #IIes 26,1103 *15000 2 =128 46,998
— ROANSINEEX AHY SRS
33,930 #2801 A+ 128 11,401
—BISEFJACUI HY SHR=S
29,7003 x5201 2 =128 18,533
—BISEFAQUI M3
24, 7403 «5201 2+ 128 15,438
—HAXEECHHAIAE QHY SRS
HIIRS 17,330 520 A+ 123 10,814
—HARAXEEHHAIAE ARS Mot
26,4002 128 317
OAIE ZHI S X 323,392




SA: DEBI D
M Ensael
Sel: HERE AHIA (2o &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- SYEUF A RN
13,0002 *4E+8E + 128 4,992
—DSMEI| S(UEI.HEE . FRE)
500,00024* 1807 2 90,000
—HOJ RANE+ L WH(B1IHL)
7.500,000% *217H 157,500
—QNELA JEFX KRIES
1,700,000 x279H 2 45,900
—HASLE RN 300,000 *50H & 15,000
—BIS eHLHDI(5200) & WS QHLHE(1500H)
SN 10,000
401 AIEBI LR OH Y] 1,541,700 1,151,000 390,700
01 Al& | 1,538,700 1,148,000 390,700
OBtALE & X 600, 000& * 100 M 60,000
OalSIl &X(1H2) 40,000
oz2E & 6,000,0002 * 1674 4 96,000
Ogd=2s: =g FA(LE £28)
5,000,000 *167H 4 80,000
OA2AZAE 8HEE ot B
1,500,0002 244 36,000
OMoIdl B&E & 1,500,000 *307H 2 45,000
OZIIEXE &X L 24 300,0002 x200H 60,000
Otz &3 60,000 *400 M 24,000
Ozg=2lt €3 554,000 *300m 166,200
OBZE+ AL &3 500,000 *20H 10,000
o9l BEXYE &x 20,0002 *1,5004 30,000
ORSUHFEXNE &3 Y 2% 130,000
~DESNFEXNT & 300, 000&! *300 M 90,000
~DEGHFEXNT 24 200, 000 *200H 40,000
OasIl #F Al 8,000,000 *6JH £ 48,000
ORANSIISHA 35,000,0002 *57H 4 175,000
Oxtd , ZX& S =M 538,500
03 Al& = THHl 3,000 3,000 0
Onszeisez 3,000
SUENE &3 25,000 262,000 £.237,000
401 AIEBI L2 OH Y] 25,000 262,000 A.237,000
01 Al& ] 25,000 262,000 ~.237,000
ODIZZEFXE &X (14, A=307m) 25,000
24U RN2ES 20,858,000 22,457,000 ~1,599,000
307 @120l & 20,858,000 22,457,000 A1,599,000
09 2+LAEE3 20,858,000 22,457,000 ~1,599,000
O02 A o2l |NEES 20,858,000




CEHE .S (3H) - MBAY - B2 il HDS2
HASZE &X 130,000 208,000 A78,000
401 Al HI YL 2 0HHI 130,000 208,000 A78,000
01 A& HI 130,000 208,000 AT78,000
OHASZHE &X 13,000, 000& =100 & 130,000
AXNEAN E2E 261,929 269,016 NT,087
8 F=EI A& 261,929 269,016 NT,087
101 @121l 50,729 8,376 42,353
04 JI2ZtH22XNESE =+ 50,729 8,376 42,353
OFXHE M 22 50,729
—-J|=223 41,6803 208! x4H 34,678
— =X 41,6803 #4221 «4H 7,003
PN 41,6803 x9 x4H 1,501
— 52422 41,6803 9«1 5+4H 2,251
— 2tAlH| 3,000& *208 x4H 2,496
— I =l 350,000& *23| x4H 2,800
201 et A | 132,200 124,640 7,560
01 AFR2t2l bl 30,200 30,200 0
Ogt2H| 15,000
— =X BElE 22 15,000
OF=1=1:] 7,200
—E8HFEX HEFA 7,200
o1 =l 3,000
— FIEAZE S$H=E, 2 3,000
ogxs 5,000
— SOYXX Aoz 50,000& *100CH 5,000
02 3524t 102,000 94,440 7,560
O332=2 % HA 76,440
— 1DXA &S REZ 25,000
—gE REF 5,000
—CCTV 24 AIEZ
200,000& 183 & x12& 43,200
—CCTV dE8d HIIe=a
15,000 *183| & x12& 3,240
OA & &l S XYl 25,560
— CCTV | X2 41| 100,000& =18 12& 21,600
— ANEHIAINAIAE QX E 44| 3,960
202 04| 6,000 6,000 0
01 2LH O HI 6,000 6,000 0
O=28FEX NcHs 22 6,000
203 &2 =X b 1,000 1,000 0




A

SRS el
el EHAEM Y (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A F=XH S =AY 1,000 1,000 0
Os8=3X Nt 2 =4 1,000
401 Al HI YL = Tl 72,000 129,000 A57,000
01 A& Bl 72,000 129,000 A57,000
OFXASsXNEXE X & Hl
400, 000& *80H 32,000
Osg8=ZXs=x CCTV & X 40,000
— & CCTV (10H) 40,000
gs=eel 77,025 97,000 £ 19,975
HHE=E 77,025 97,000 A 19,975
201 L2l 73,475 71,000 2,475
01 At 22l 23,000 23,000 0
Oget=&H| 20,000
— WEHE XA QA 80& 12,5000 x4 3] 4,000
—HEUEHE DRM I
80& 25,0000 x23] 4,000
— QAMA QUM (16F) 2,000,000& *43] 8,000
— NsSXHEMEH 23 1,000,000& x4 3] 4,000
o=l 3,000
—NHHESEUIEF 2RE
300, 000& 5% *23| 3,000
02 232gHl 50,475 48,000 2,475
Oz22= & HA 48,000
—ASXUHEEINY L AMNHUHSRUSSE
PN 3,250,000& +x12& 39,000
—HMEA A=(4.5t80]) *EE
4,500, 0003 *23] 9,000
OAIE ZHI S X 2,475
—SEMIYR SIX2A2AMLAE U2+
137,500 201 = Ok x9& 2,475
202 044l 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
Otsi2d MEUEtHs S8+ 3,000
405 KtobH S| 550 23,000 A22,450
01 AL ESFH S 550 23,000 A22,450
OAMY 2L (1TH) 550
nserit2el 1,124,700 990,700 134,000
< 36,464
Al 1,088,236
wsAolsd B2 1,124,700 990,700 134,000
< 36,464
Al 1,088,236




wnsdH
WS xtee
DEANOSH 2 (B9 ®R)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
Egusast TU2I 884,700 750,700 134,000
< 12,000
Al 872,700
201 LBH2E| 700 700 0
01 At 2t 2l 700 700 0
ONEAX OISHASHAS BASS
70,0003 x5 *23] 700
307 glz2tol & 884,000 750,000 134,000
< 12,000
Al 872,000
05 RIZIRI & 3 884,000 750,000 134,000
OSsSgusasH 43,600, 000 *20CH 872,000
OEgus+H M= 12,000
= 12,000
HaHAs 24 240,000 240,000 0
< 24,464
Al 215,536
307 gl2tol & 240,000 240,000 0
< 24,464
Al 215,536
09 2HAHAEXS 240,000 240,000 0
OMAHA 2ZH 20,000,000& = 12CH 240,000
< 24,464
Al 215,536
23AE 2el 575,820 421,422 154,398
= 78,000
< 5,500
Al 492,320
EEANY HEEH 575,820 421,422 154,398
= 78,000
< 5,500
Al 492,320
BRAI2S AR 575,820 55,182 520,638
= 78,000
< 5,500
Al 492,320
201 LBH2E| 10,320 10,320 0
02 3322l 10,320 10,320 0
OEAIZIE ZHII |X 2t
2,000& 4300 x12& 10,320
301 g2 L= 560,000 0 560,000
= 78,000
Al 482,000
11IIEEAS 560,000 0 560,000
OHYANZREAZ 28,000,000& »20CH 560,000




2A NS
M 2E M2
CHel: 2BAY AXSH CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 78,000
Al 482,000
402 RI2EX20l A 5,500 44,862 A 39,362
< 5,500
01 RIZEAt2E X 5,500 44,862 A 39,362
QAR AMAM HEF3 K& 5,500
< 5,500
HE2IAZH (nSdHAE D) 85,324 81,688 3,636
Jl=3l 85,324 81,688 3,636
JlE2&l 85,324 81,688 3,636
201 L2l 22,404 21,648 756
01 At 22l 22,404 21,648 756
ORNE2EII=ZH 22,404
202 04l 58,720 55,840 2,880
01 = LH Yl 58,720 50,080 8,640
O=0 bl 58,720
203 R =&t 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORAM2IYRFLH 4,200




